

City of North Port Finance Department/Purchasing Division 4970 CITY HALL BLVD, STE 337 NORTH PORT, FLORIDA 34286



Office: 941.429.7170 Fax: 941.429.7173

Email: <u>ASKIPPER@NORTHPORTFL.GOV</u>

AUGUST 2, 2023

NOTICE OF INTENT TO AWARD

REQUEST FOR BID NO. 2023-28

ROAD REHABILATION PROJECT

After reviewing bids, staff recommends City Commissioners take the following action for the above-mentioned bid: Award to **PREFERRED MATERIALS, INC. OF TAMPA, FLORIDA** as the lowest responsive, responsible bidders meeting the specifications of the City of North Port.

Failure to file a protest of this bid in accordance with Chapter 2, Article VIII, Section 2-409 of the City of North Port Code of Ordinances shall constitute a waiver of the right to protest. **Intent to protest must be declared in writing within 24 hours of this notice. **
Sincerely,

Alla V. Skipper

Alla V. Skipper, CPPB Senior Contract Administrator (1) BID SCHEDULE 2022/23 TOLEDO BLADE PHASE 1

(1) BID SCHEDULE 2022/23 TOLEDO			PREFERRED	MATERIALS	AJAX PAVING		
Item Description	Unit	Qty	Unit Price	Total Qty	Unit Price	Total Qty	
1) Mobilization		1	Included in MOT		Included in MOT		
2) M.O.T.							
M.O.T. Maintenance	LS	1	\$221,234.49	\$221,234.49	\$677,649.57	\$677,649.57	
				\$0.00		\$0.00	
3) Resurfacing		-		\$0.00		\$0.00	
a. Type FC 9.5 (Traffic C) (1") (PG 76-22)	TN	3,812	\$189.91	\$723,936.92	\$218.12	\$831,473.44	
b. Asphalt Base Course (Type B 12.5 or SP 12.5)	TN	50	\$449.71	\$22,485.50	\$424.80	\$21,240.00	
c. Sediment Barrier (staked silt fence)	LF	20,000	\$1.47	\$29,400.00	\$1.48	\$29,600.00	
d. Penetrant Sealer	GL	465	\$68.82	\$32,001.30	\$350.61	\$163,033.65	
e. Cleaning and Sealing Concrete Surfaces	SF	81,348	\$0.54	\$43,927.92	\$5.64	\$458,802.72	
f. Portland Cement Concrete Horizontal Repair	EA	200	\$325.15	\$65,030.00	\$308.16	\$61,632.00	
g. Pourable Joint Sealant	LF	1,000	\$29.05	\$29,050.00	\$26.83	\$26,830.00	
4) Asphalt Removal & Disposal				\$0.00		\$0.00	
Milling (0-1")	SY	69,318	\$2.17	\$150,420.06	\$3.49	\$241,919.82	
5) Road Striping				\$0.00		\$0.00	
a. 6" Yellow [skip]	LF	680	\$1.30	\$884.00	\$1.42	\$965.60	
b. 6" Solid Yellow	LF	16,757	\$1.08	\$18,097.56	\$1.18	\$19,773.26	
c. 6" Solid White	LF	21,331	\$1.08	\$23,037.48	\$1.18	\$25,170.58	
d. 6" White (skip)	LF	4,000	\$1.30	\$5,200.00	\$1.42	\$5,680.00	
e. Double Yellow	LF	1,776	\$2.17	\$3,853.92	\$2.37	\$4,209.12	
f. Stop Bar	EA	23	\$70.45	\$1,620.35	\$76.94	\$1,769.62	
g. Turn Arrow	EA	65	\$54.19	\$3,522.35	\$59.19	\$3,847.35	
h. Crosswalk	EA	23	\$704.48	\$16,203.04	\$769.42	\$17,696.66	
i. School Symbol	EA	4	\$216.76	\$867.04	\$236.75	\$947.00	
j. Yellow Island Nose	SF	175	\$3.25	\$568.75	\$3.55	\$621.25	
6) Survey				\$0.00		\$0.00	
Restore Existing PCPs & Ref Points	EA	0		\$0.00		\$0.00	
10) Sod/Restoration				\$0.00		\$0.00	
a. Performance Turf	SY	6,666	\$5.96	\$39,729.36	\$10.65	\$70,992.90	
SUB-TOTAL BID PRICE (ITEMS 1-10)				\$1,431,070.04		\$2,663,854.54	
11) CNP Utility Adjustments (Contingency) - DO NOT BID							
a. CNP Utility Adjustments	LS	-	XXXXX	\$50,000.00	XXXXX	\$50,000.00	
b. CNP Gopher Tortoise Protection	LS	-	XXXXX	\$50,000.00	XXXXX	\$50,000.00	
TOTAL BID PRICE (ITEMS 1-11)							
				\$1,531,070.04		\$2,763,854.54	
			TOTAL COST	\$1,531,070.04	TOTAL COST	\$2,763,854.54	

(8) BID SCHEDULE 2022/23 TOLEDO BLADE PHASE II

			PREFERRED	MATERIALS	AJAX PAVING	
Item Description	Unit	Qty	Unit Price	Total Qty	Unit Price	Total Qty
1) Mobilization		1	Included in MOT		Included in MOT	
2) M.O.T.						
M.O.T. Maintenance	LS	1	\$216,663.90	\$216,663.90	\$578,267.94	\$578,267.94
				\$0.00		\$0.00
3) Resurfacing				\$0.00		\$0.00
a. Type FC 9.5 (Traffic C) (1") (PG 76-22)	TN	4,286	\$194.68	\$834,398.48	\$217.99	\$934,305.14
b. Asphalt Base Course (Type B 12.5 or SP 12	TN	50	\$449.71	\$22,485.50	\$147.14	\$7,357.00
c. Sediment Barrier (staked silt fence)	LF	20,000	\$1.47	\$29,400.00	\$1.48	\$29,600.00
d. Penetrant Sealer	GL	420	\$68.82	\$28,904.40	\$372.26	\$156,349.20
e. Cleaning and Sealing Concrete Surfaces	SF	73,358	\$0.54	\$39,613.32	\$5.84	\$428,410.72
f. Portland Cement Concrete Horizontal Repa	EA	200	\$325.15	\$65,030.00	\$308.16	\$61,632.00
g. Pourable Joint Sealant	LF	1,000	\$29.05	\$29,050.00	\$26.83	\$26,830.00
4) Asphalt Removal & Disposal		•		\$0.00		\$0.00
Milling (0-1")	SY	77,926	\$2.17	\$169,099.42	\$2.50	\$194,815.00
5) Road Striping				\$0.00		\$0.00
a. 6" Yellow [skip]	LF	500	\$1.30	\$650.00	\$1.42	\$710.00
b. 6" Solid Yellow	LF	15,794	\$1.08	\$17,057.52	\$1.18	\$18,636.92
c. 6" Solid White	LF	31,704	\$1.08	\$34,240.32	\$1.18	\$37,410.72
d. 6" White (skip)	LF	2,520	\$1.30	\$3,276.00	\$1.42	\$3,578.40
e. Double Yellow	LF	7,187	\$2.17	\$15,595.79	\$2.37	\$17,033.19
f. Stop Bar	EA	15	\$70.45	\$1,056.75	\$76.94	\$1,154.10
g. Turn Arrow	EA	92	\$54.19	\$4,985.48	\$59.19	\$5,445.48
h. Crosswalk	EA	22	\$704.48	\$15,498.56	\$769.42	\$16,927.24
i. School Symbol	EA	0		\$0.00	\$200.00	\$0.00
j. Yellow Island Nose	SF	268	\$3.25	\$871.00	\$3.55	\$951.40
6) Survey		•		\$0.00		\$0.00
Restore Existing PCPs & Ref Points	EA	0		\$0.00		\$0.00
10) Sod/Restoration		•		\$0.00		\$0.00
a. Performance Turf	SY	6,800	\$5.96	\$40,528.00	\$10.65	\$72,420.00
SUB-TOTAL BID PRICE (ITEMS 1-10)				\$1,568,404.44		\$2,591,834.45
11) CNP Utility Adjustments (Contingency) - DO NOT BID						
a. CNP Utility Adjustments	LS	-	XXXXX	\$50,000.00	XXXXX	\$50,000.00
b. CNP Gopher Tortoise Protection	LS	-	XXXXX	\$50,000.00	XXXXX	\$50,000.00
TOTAL BID PRICE (ITEMS 1-11)						
				\$1,668,404.44		\$2,691,834.45
			TOTAL COST	\$1,668,404.44	TOTAL COST	\$2,691,834.45

(22) BID SCHEDULE 2022/23 ELDRON AVE, PHASE I

	PREFERRED MATERIA		MATERIALS	S AJAX PAVING		
Item Description	Unit	Qty	Unit Price	Total Qty	Unit Price	Total Qty
1) Mobilization		1	Included in MOT		Included in MOT	
2) M.O.T.						
M.O.T. Maintenance	LS	1	\$23,665.95	\$23,665.95	\$27,680.99	\$27,680.99
				\$0.00		\$0.00
3) Resurfacing				\$0.00		\$0.00
a. Type SP 9.5 (Traffic C) (1 1/2") (Trackless)	TN	1,046	\$151.17	\$158,123.82	\$153.18	\$160,226.28
b. Asphalt Base Course (Type B 12.5 or SP 12.5)	TN	20	\$490.62	\$9,812.40	\$150.71	\$3,014.20
c. Sediment Barrier (staked silt fence)	LF	0		\$0.00		\$0.00
d. Penetrant Sealer	GL	0		\$0.00		\$0.00
e. Cleaning and Sealing Concrete Surfaces	SF	0		\$0.00		\$0.00
f. Portland Cement Concrete Horizontal Repair	EA	0		\$0.00		\$0.00
g. Pourable Joint Sealant	LF	0		\$0.00		\$0.00
4) Asphalt Removal & Disposal	-	•		\$0.00		\$0.00
Milling (0-1 1/2")	SY	13,125	\$2.69	\$35,306.25	\$3.18	\$41,737.50
5) Road Striping	•	•		\$0.00		\$0.00
a. 6" Yellow [skip]	LF	0		\$0.00		\$0.00
b. 6" Solid Yellow	LF	0		\$0.00		\$0.00
c. 6" Solid White	LF	11,200	\$1.08	\$12,096.00	\$1.18	\$13,216.00
d. 6" White (skip)	LF	0			·	\$0.00
e. Double Yellow	LF	5,600	\$2.17	\$12,152.00	\$2.37	\$13,272.00
f. Stop Bar	EA	2	\$70.45	\$140.90	\$76.94	\$153.88
g. Turn Arrow	EA	0		\$0.00		\$0.00
h. Crosswalk	EA	1	\$650.29	\$650.29	\$710.24	\$710.24
i. School Symbol	EA	0	·	\$0.00	·	\$0.00
6) Survey				\$0.00		\$0.00
Restore Existing PCPs & Ref Points	EA	9	\$415.31	\$3,737.79	\$460.34	\$4,143.06
10) Sod/Restoration			,	\$0.00	,	\$0.00
a. Performance Turf	SY	9	\$5.96	\$53.64	\$10.65	\$95.85
SUB-TOTAL BID PRICE (ITEMS 1-10)			Ţ O.O.O	\$255,739.04	7 - 0.00	\$264,250.00
11) CNP Utility Adjustments (Contingency) - DO NOT BID				,,		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
a. CNP Utility Adjustments	LS	l -	XXXXX	\$50,000.00	XXXXX	\$50,000.00
b. CNP Gopher Tortoise Protection	LS	-	XXXXX	\$50,000.00	XXXXX	\$50,000.00
TOTAL BID PRICE (ITEMS 1-11)			700000	\$30,000.00	70000	\$30,000.00
				\$355,739.04		\$364,250.00
			TOTAL COST	\$355,739.04	TOTAL COST	\$364,250.00

(36) BID SCHEDULE 2022/23 SALFORD BLVD, PHASE II

			PREFERRED MATERIALS		AJAX PAVING	
Item Description	Unit	Qty	Unit Price	Total Qty	Unit Price	Total Qty
1) Mobilization		1	Included in MOT		Included in MOT	
2) M.O.T.		•				
M.O.T. Maintenance	LS	1	\$26,971.09	\$26,971.09	\$40,703.69	\$40,703.69
				\$0.00		\$0.00
3) Resurfacing		-		\$0.00		\$0.00
a. Type SP 9.5 (Traffic C) (1 1/2") (Trackless)	TN	1,614	\$147.26	\$237,677.64	\$161.22	\$260,209.08
b. Asphalt Base Course (Type B 12.5 or SP 12.5)	TN	20	\$518.45	\$10,369.00	\$502.60	\$10,052.00
c. Sediment Barrier (staked silt fence)	LF	0		#REF!		\$0.00
d. Penetrant Sealer	GL	0		#REF!		\$0.00
e. Cleaning and Sealing Concrete Surfaces	SF	0		#REF!		\$0.00
f. Portland Cement Concrete Horizontal Repair	EA	0		#REF!		\$0.00
g. Pourable Joint Sealant	LF	0		#REF!		\$0.00
4) Asphalt Removal & Disposal		-				\$0.00
Milling (0-1 1/2")	SY	19,556	\$2.49	#REF!	\$3.99	\$78,028.44
5) Road Striping		•				\$0.00
a. 6" Yellow [skip]	LF	2,424	\$1.30	#REF!	\$1.42	\$3,442.08
b. 6" Solid Yellow	LF	780	\$1.08	#REF!	\$1.18	\$920.40
c. 6" Solid White	LF	14,500	\$1.08	#REF!	\$1.18	\$17,110.00
d. 6" White (skip)	LF	0		#REF!		\$0.00
e. Double Yellow	LF	130	\$2.17	#REF!	\$2.37	\$308.10
f. Stop Bar	EA	0		#REF!		\$0.00
g. Turn Arrow	EA	0		#REF!		\$0.00
h. Crosswalk	EA	0		#REF!		\$0.00
i. School Symbol	EA	0		#REF!		\$0.00
6) Survey		•				\$0.00
Restore Existing PCPs & Ref Points	EA	16	\$467.22	\$7,475.52	\$480.89	\$7,694.24
10) Sod/Restoration						
a. Performance Turf	SY	0		#REF!		#REF!
SUB-TOTAL BID PRICE (ITEMS 1-10)				#REF!		#REF!
11) CNP Utility Adjustments (Contingency) - DO NOT BID						
a. CNP Utility Adjustments	LS	-	XXXXX	\$50,000.00	XXXXX	\$50,000.00
b. CNP Gopher Tortoise Protection	LS	-	XXXXX	\$50,000.00	XXXXX	\$50,000.00
TOTAL BID PRICE (ITEMS 1-11)						
			_	#REF!	_	#REF!
			TOTAL COST	#REF!	TOTAL COST	#REF!

BID SCHEDULE 2022/23 PONCE DE LEON OVERPASS, PHA

			PREFERRED	MATERIALS	AJAX F	PAVING
Item Description	Unit	Qty	Unit Price	Total Qty	Unit Price	Total Qty
1) Mobilization		1	Included in MOT		Included in MOT	
2) M.O.T.			-			
M.O.T. Maintenance	LS	1	\$15,398.53	\$15,398.53	\$16,843.64	\$16,843.64
				\$0.00		\$0.00
3) Resurfacing				\$0.00		\$0.00
a. Type FC 9.5 (Traffic C) (1") (PG 76-22)	TN	262	\$199.74	\$52,331.88	\$222.46	\$58,284.52
b. Asphalt Base Course (Type B 12.5 or SP 12.5)	TN	20	\$524.99	\$10,499.80	\$147.16	\$2,943.20
c. Sediment Barrier (staked silt fence)	LF	0		\$0.00		\$0.00
d. Penetrant Sealer	GL	0		\$0.00		\$0.00
e. Cleaning and Sealing Concrete Surfaces	SF	0		\$0.00		\$0.00
f. Portland Cement Concrete Horizontal Repair	EA	0		\$0.00		\$0.00
g. Pourable Joint Sealant	LF	0		\$0.00		\$0.00
4) Asphalt Removal & Disposal	•	•	•	\$0.00		\$0.00
Milling (0-1")	SY	4,641	\$2.26	\$10,488.66	\$3.85	\$17,867.85
5) Road Striping	•	•		\$0.00		\$0.00
a. 6" Yellow [skip]	LF	0		\$0.00		\$0.00
b. 6" Solid Yellow	LF	0		\$0.00		\$0.00
c. 6" Solid White	LF	2,800	\$1.08	\$3,024.00	\$1.18	\$3,304.00
d. 6" White (skip)	LF	0		\$0.00		\$0.00
e. Double Yellow	LF	1,400	\$2.17	\$3,038.00	\$2.37	\$3,318.00
f. Stop Bar	EA	0		\$0.00		\$0.00
g. Turn Arrow	EA	0		\$0.00		\$0.00
h. Crosswalk	EA	0		\$0.00		\$0.00
i. School Symbol	EA	0		\$0.00		\$0.00
j. RPM	EA	70	\$8.67	\$606.90	\$9.47	\$662.90
6) Survey	<u> </u>	•		\$0.00		\$0.00
Restore Existing PCPs & Ref Points	EA	0	1	\$0.00		\$0.00
10) Sod/Restoration	•	•		\$0.00		\$0.00
a. Performance Turf	SY	0	1	\$0.00		\$0.00
SUB-TOTAL BID PRICE (ITEMS 1-10)	•			\$95,387.77		\$103,224.11
11) CNP Utility Adjustments (Contingency) - DO NOT BID						
a. CNP Utility Adjustments	LS	I -	XXXXX	\$50,000.00	XXXXX	\$50,000.00
b. CNP Gopher Tortoise Protection	LS	-	XXXXX	\$50,000.00	XXXXX	\$50,000.00
TOTAL BID PRICE (ITEMS 1-11)				. ,		
				\$195,387.77		\$203,224.11
			TOTAL COST	\$195,387.77	TOTAL COST	\$203,224.11

(29) BID SCHEDULE 2022/23 LaMARQUE AVE, PHASE I

			PREFERRED MATERIALS		AJAX PAVING	
Item Description	Unit	Qty	Unit Price	Total Qty	Unit Price	Total Qty
1) Mobilization		1	Included in MOT		Included in MOT	
2) M.O.T.						
M.O.T. Maintenance	LS	1	\$15,398.53	\$15,398.53	\$18,500.85	\$18,500.85
				\$0.00		\$0.00
3) Resurfacing	-			\$0.00		\$0.00
a. Type SP 9.5 (Traffic C) (1 1/2") (Trackless)	TN	323	\$154.42	\$49,877.66	\$175.29	\$56,618.67
b. Asphalt Base Course (Type B 12.5 or SP 12.5)	TN	50	\$367.88	\$18,394.00	\$147.14	\$7,357.00
c. Sediment Barrier (staked silt fence)	LF	0		\$0.00		\$0.00
d. Penetrant Sealer	GL	0		\$0.00		\$0.00
e. Cleaning and Sealing Concrete Surfaces	SF	0		\$0.00		\$0.00
f. Portland Cement Concrete Horizontal Repair	EA	0		\$0.00		\$0.00
g. Pourable Joint Sealant	LF	0		\$0.00		\$0.00
4) Asphalt Removal & Disposal	-	-		\$0.00		\$0.00
Milling (0-1")	SY	4,005	\$2.54	\$10,172.70	\$4.69	\$18,783.45
5) Road Striping	-	-		\$0.00		\$0.00
a. 6" Yellow [skip]	LF	0		\$0.00		\$0.00
b. 6" Solid Yellow	LF	0		\$0.00		\$0.00
c. 6" Solid White	LF	0		\$0.00		\$0.00
d. 6" White (skip)	LF	0		\$0.00		\$0.00
e. Double Yellow	LF	0		\$0.00		\$0.00
f. Stop Bar	EA	1	\$108.38	\$108.38	\$118.37	\$118.37
g. Turn Arrow	EA	0		\$0.00		\$0.00
h. Crosswalk	EA	0		\$0.00		\$0.00
i. School Symbol	EA	0		\$0.00		\$0.00
j. RPM	EA	0		\$0.00		\$0.00
6) Survey				\$0.00		\$0.00
Restore Existing PCPs & Ref Points	EA	5	373.77	\$1,868.85	603.7	\$3,018.50
10) Sod/Restoration				\$0.00		\$0.00
a. Performance Turf	SY	0		\$0.00		\$0.00
SUB-TOTAL BID PRICE (ITEMS 1-10)				\$95,820.12		\$104,396.84
11) CNP Utility Adjustments (Contingency) - DO NOT BID						
a. CNP Utility Adjustments	LS	-	XXXXX	\$50,000.00	XXXXX	\$50,000.00
b. CNP Gopher Tortoise Protection	LS	-	XXXXX	\$50,000.00	XXXXX	\$50,000.00
TOTAL BID PRICE (ITEMS 1-11)	•	•				
				\$195,820.12		\$204,396.84
			TOTAL COST	\$195,820.12	TOTAL COST	\$204,396.84

SUMMARY SCHEDULE	PREFERRED	AJAX
1. 2022/23 TOLEDO BLADE PHASE 1	\$1,531,070.04	\$2,763,854.54
2. 2022/23 TOLEDO BLADE PHASE 2	\$1,668,404.44	\$2,691,834.45
3. 2022/23 ELDRON AVE, PHASE I	\$355,739.04	\$364,250.00
4. 2022/23 SALFORD BLVD, PHASE II	\$451,123.39	\$518,468.03
5. 2022/23 PONCE DE LEON OVERPASS, PHASE I	\$195,387.77	\$203,224.11
6. 2022/23 LaMARQUE AVE, PHASE I	\$195,820.12	\$204,396.84
TOTAL PROJECT COST	\$4,397,544.80	\$6,746,027.97